Installation Guide

Z %15 AR

178265

Clamps 3 H

Upper bracket
SCRAE M

Installation Tools 223 T. A

D

18 mm combination wrench(2PCS)
16 mm combination wrench(2PCS)
8 mm combination wrench(2PCS)

PIFAR T

Step 1: Assemble the bracket
F—H: HEZEZE

Step 2: Install the bracket

0O

Lower bracket

eSS

Inclinometer il f11%

Issue:01

M4 55 B (Attachment list)
4 Hname %i 5 code Q%%ty
U Jedz 175265001 2
LR 175265002 1
UL 175265003 1
2 175265004 1
b 175265005 3
HEH 175265006 1
2R v 175265007 1
b 175265008 2
JZf4£Bolt GB/T5783 M10X 180 4
JZf4£Bolt GB/T5783 M10X 100 4
1242 Bolt GB/T5783 M8X 25 4
1244 Bolt GB/T5783 M8X 20 4
JZ#4 Bolt GB/T5783 M8 X 50 2
$ZLFNut GB/T6170 M10 12
TELENUt GB/T6170 M8 8
JHBENut GB/T6170 M8
V48 Flat washer GB/T97.1 8 12
A Spring washer GB/T93 8 10
-4 B&|Flat washer GB/T97.1 10 8
SAEE B Spring washer GB/T93 10 8
Appearance of the actual antenna may differ from
the pictures. —— i LLS¥ M.

Follow the directions shown in the picture to install brackets.

THIZE P s 2 SO RS

Follow the directions shown
in the picture to install
brackets.

VR A S LR A 2 N
TR FIRE




Installation Guide

ZEUiA 175265

Step 3: Install the antenna N Issue:01
F=H. REXREK ole diameter
BHER
2 @ 50~d110
\L. N - ' Tighten all the
geil e nuts before lifting
=» el < @ the antenna onto

the tower. Ensure
the bracket is fully
folded.
EESHTAR R S
BAE0° AT
EIRTEIRCE SE N

Install the Antenna on the pole as shown in the figure.

The same installation method applies to both upper and lower
brackets.

T B TR LRGN b, 3O3R s 482228 77 UM A
Check and tighten all the nuts when the installation is complete.
The operating torques are given in the following figures.
RO, ERA I R ITA R,
The recommended
B SE M
M5=4 N-m; M10=35 N-m; M12=62 N-m

sl

-P guil

Step 4: Adjust the mechanical downtilt angle
FEML: FTRERIH T 55

4 2\
Method 1
Preci§e§ference Mounting plate
??mﬂi et distance Down tilt angle
Cale O bracke 5) N \ N
(the actual scale i A 7
prevails) L(mm)
. AR CRE
HREREES 1200+5 0-18°
é A
Method 2 1600£5 0-12°
k2

. After the adjustment is complete, tighten all
Precise measurement

B the nuts.

Before adjustment, adjust the %fglﬁﬁiﬁk)ﬁ o ITRPTHIRE .
inclinometer to the desired downtilt Only qualified personnel are allowed to install
angle. After adjustment, locate the bead the ante:r;a.a:; N . Lo

in the middle of the inclinometer. RGN 2225 A R IR 22 N LA

WTRD, KA SR Z P 75 1 8T

! WG, WA AR BRACT &
\- J




